



## INEQUALITIES FOR THE POLAR DERIVATIVE OF A POLYNOMIAL

K.K. DEWAN AND C.M. UPADHYE

DEPARTMENT OF MATHEMATICS  
FACULTY OF NATURAL SCIENCE  
JAMIA MILIA ISLAMIA (CENTRAL UNIVERSITY)  
NEW DELHI-110025 (INDIA)

GARGI COLLEGE (UNIVERSITY OF DELHI)  
SIRI FORT ROAD, NEW DELHI-110049 (INDIA)  
c\_upadhye@rediffmail.com

*Received 17 April, 2007; accepted 15 May, 2008*

*Communicated by D. Stefanescu*

---

**ABSTRACT.** In this paper we obtain new results concerning maximum modules of the polar derivative of a polynomial with restricted zeros. Our results generalize and refine upon the results of Aziz and Rather [3] and Jagjeet Kaur [9].

---

*Key words and phrases:* Polynomials, Inequality, Polar Derivative.

*2000 Mathematics Subject Classification.* 30A10, 30C15.

### 1. INTRODUCTION AND STATEMENT OF RESULTS

Let  $p(z)$  be a polynomial of degree  $n$  and  $p'(z)$  its derivative. It was proved by Turán [11] that if  $p(z)$  has all its zeros in  $|z| \leq 1$ , then

$$(1.1) \quad \max_{|z|=1} |p'(z)| \geq \frac{n}{2} \max_{|z|=1} |p(z)|.$$

The result is best possible and equality holds in (1.1) if all the zeros of  $p(z)$  lie on  $|z| = 1$ .

For the class of polynomials having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , Govil [7] proved:

**Theorem A.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$  having all the zeros in  $|z| \leq k$ ,  $k \geq 1$ , then*

$$(1.2) \quad \max_{|z|=1} |p'(z)| \geq \frac{n}{1+k^n} \max_{|z|=1} |p(z)|.$$

*Inequality (1.2) is sharp. Equality holds for  $p(z) = z^n + k^n$ .*

Let  $D_\alpha\{p(z)\}$  denote the polar derivative of the polynomial  $p(z)$  of degree  $n$  with respect to  $\alpha$ , then

$$D_\alpha\{p(z)\} = np(z) + (\alpha - z)p'(z).$$

The polynomial  $D_\alpha\{p(z)\}$  is of degree at most  $n-1$  and it generalizes the ordinary derivative in the sense that

$$\lim_{\alpha \rightarrow \infty} \frac{D_\alpha p(z)}{\alpha} = p'(z).$$

Aziz and Rather [3] extended (1.2) to the polar derivative of a polynomial and proved the following:

**Theorem B.** *If the polynomial  $p(z) = \sum_{v=0}^n a_v z^v$  has all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then for every real or complex number  $\alpha$  with  $|\alpha| \geq k$ ,*

$$(1.3) \quad \max_{|z|=1} |D_\alpha p(z)| \geq n \left( \frac{|\alpha| - k}{1 + k^n} \right) \max_{|z|=1} |p(z)|.$$

The bound in Theorem B depends only on the zero of largest modulus and not on the other zeros even if some of them are close to the origin. Therefore, it would be interesting to obtain a bound, which depends on the location of all the zeros of a polynomial. In this connection we prove the following:

**Theorem 1.1.** *Let*

$$p(z) = \sum_{v=0}^n a_v z^v = a_n \prod_{v=1}^n (z - z_v), \quad a_n \neq 0,$$

*be a polynomial of degree  $n$ ,  $|z_v| \leq k_v$ ,  $1 \leq v \leq n$ , let  $k = \max(k_1, k_2, \dots, k_n) \geq 1$ . Then for every real or complex number  $|\alpha| \geq k$ ,*

$$(1.4) \quad \max_{|z|=1} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \min_{|z|=k} |p(z)| \right].$$

Dividing both sides of (1.4) by  $|\alpha|$  and letting  $|\alpha| \rightarrow \infty$ , we get the following refinement of a result due to Aziz [1].

**Corollary 1.2.** *Let  $p(z) = \sum_{v=0}^n a_v z^v = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , be a polynomial of degree  $n$ ,  $|z_v| \leq k_v$ ,  $1 \leq v \leq n$ , let  $k = \max(k_1, k_2, \dots, k_n) \geq 1$ . Then,*

$$(1.5) \quad \max_{|z|=1} |p'(z)| \geq \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \min_{|z|=k} |p(z)| \right].$$

Since  $\frac{k}{k+k_v} \geq \frac{1}{2}$  for  $1 \leq v \leq n$ , Theorem 1.1 gives the following result, which is an improvement of Theorem B.

**Corollary 1.3.** *If  $p(z) = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , is a polynomial of degree  $n$ , having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then for every real or complex number  $|\alpha| \geq k$ ,*

$$(1.6) \quad \max_{|z|=1} |D_\alpha p(z)| \geq n(|\alpha| - k) \left[ \frac{1}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{2k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \min_{|z|=k} |p(z)| \right].$$

Dividing both sides of (1.6) by  $|\alpha|$  and letting  $|\alpha| \rightarrow \infty$ , we obtain the following refinement of Theorem A due to Govil [7].

**Corollary 1.4.** *If  $p(z) = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , is a polynomial of degree  $n$ , having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then*

$$(1.7) \quad \max_{|z|=1} |p'(z)| \geq n \left[ \frac{1}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{2k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \min_{|z|=k} |p(z)| \right].$$

The bound in Theorem 1.1 can be further improved for polynomials of degree  $n \geq 2$ . More precisely, we prove the following:

**Theorem 1.5.** *Let  $p(z) = \sum_{v=0}^n a_v z^v = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , be a polynomial of degree  $n \geq 2$ ,  $|z_v| \leq k_v$ ,  $1 \leq v \leq n$ , and let  $k = \max(k_1, k_2, \dots, k_n) \geq 1$ . Then for every real or complex number  $|\alpha| \geq k$ ,*

$$(1.8) \quad \max_{|z|=1} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \right. \\ \times \min_{|z|=k} |p(z)| + \left. \frac{2|a_{n-1}|}{k(1 + k^n)} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n - 2} \right) \right] \\ + \left( 1 - \frac{1}{k^2} \right) |na_0 + \alpha a_1| \quad \text{for } n > 2$$

and

$$(1.9) \quad \max_{|z|=1} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \right. \\ \times \min_{|z|=k} |p(z)| + \left. |a_1| \frac{(k - 1)^n}{k(1 + k^n)} \right] + \left( 1 - \frac{1}{k} \right) |na_0 + \alpha a_1| \quad \text{for } n = 2.$$

Since  $\frac{k}{k+k_v} \geq \frac{1}{2}$  for  $1 \leq v \leq n$ , the above theorem gives in particular:

**Corollary 1.6.** *If  $p(z) = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , is a polynomial of degree  $n$  having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then for every real or complex number  $|\alpha| \geq k$ ,*

$$(1.10) \quad \max_{|z|=1} |D_\alpha p(z)| \geq n(|\alpha| - k) \left[ \frac{1}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{2k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \right. \\ \times \min_{|z|=k} |p(z)| + \left. \frac{|a_{n-1}|}{k(1 + k^n)} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n - 2} \right) \right] \\ + \left( 1 - \frac{1}{k^2} \right) |na_0 + \alpha a_1| \quad \text{for } n > 2,$$

and

$$(1.11) \quad \max_{|z|=1} |D_\alpha p(z)| \geq (|\alpha| - k) \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{k^n + 1} \right) \right. \\ \times \min_{|z|=k} |p(z)| + \left. \frac{|a_1|(k - 1)^n}{k(1 + k^n)} \right] + \left( 1 - \frac{1}{k} \right) |na_0 + \alpha a_1|, \quad \text{for } n = 2.$$

Now it is easy to verify that if  $k > 1$  and  $n > 2$ , then  $\left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n - 2} \right) > 0$ . Hence for polynomials of degree  $n \geq 2$ , the above corollary is a refinement of Theorem 1.1. In fact, except the case when  $p(z)$  has all the zeros on  $|z| = k$ ,  $a_0 = 0$ ,  $a_1 = 0$ , and  $a_{n-1} = 0$ , the bound obtained by Theorem 1.5 is always sharper than the bound obtained by Theorem 1.1.

**Remark 1.** Dividing both sides of inequalities (1.8), (1.9), (1.10) and (1.11) by  $|\alpha|$  and letting  $|\alpha| \rightarrow \infty$ , we get the results due to Jagjeet Kaur [9]. In addition to this, if  $\min_{|z|=k} |p(z)| = 0$  i.e. if a zero of a polynomial lies on  $|z| = k$ , then we obtain the results due to Govil [8].

Finally, as an application of Theorem 1.1 we prove the following:

**Theorem 1.7.** *If  $p(z) = \sum_{v=0}^n a_v z^v = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , is a polynomial of degree  $n$ ,  $|z_v| \geq k_v$ ,  $1 \leq v \leq n$ , and  $k = \min(k_1, k_2, \dots, k_n) \leq 1$ , then for every real or complex number  $\delta$  with  $|\delta| \leq k$ ,*

$$(1.12) \quad \max_{|z|=1} |D_\delta p(z)| \geq (k - |\delta|) k^{n-1} \sum_{v=1}^n \frac{k_v}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1 - k^n}{k^n(1 + k^n)} m \right],$$

where  $m = \min_{|z|=k} |p(z)|$ .

## 2. LEMMAS

For the proofs of the theorems, we need the following lemmas.

**Lemma 2.1.** *If  $p(z)$  is a polynomial of degree  $n$ , then for  $R \geq 1$*

$$(2.1) \quad \max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)|.$$

The above lemma is a simple consequence of the Maximum Modulus Principle [10].

**Lemma 2.2.** *If  $p(z) = \sum_{v=0}^n a_v z^v$  is a polynomial of degree  $n$ , then for all  $R > 1$ ,*

$$(2.2) \quad \max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)| - (R^n - R^{n-2}) |p(0)| \quad \text{for } n \geq 2$$

and

$$(2.3) \quad \max_{|z|=1} |p(z)| \leq R \max_{|z|=1} |p(z)| - (R - 1) |p(0)| \quad \text{for } n = 1.$$

This result is due to Frappier, Rahman and Ruscheweyh [5].

**Lemma 2.3.** *If  $p(z) = a_n \prod_{v=1}^n (z - z_v)$ , is a polynomial of degree  $n \geq 2$ ,  $|z_v| \geq 1$  for  $1 \leq v \leq n$ , then*

$$(2.4) \quad \max_{|z|=R \geq 1} |p(z)| \leq \frac{R^n + 1}{2} \max_{|z|=1} |p(z)| - |a_1| \left( \frac{R^n - 1}{n} - \frac{R^{n-2}}{n-2} \right) - \frac{R^n - 1}{2} \min_{|z|=1} |p(z)|, \\ \text{if } n > 2$$

and

$$(2.5) \quad \max_{|z|=R \geq 1} |p(z)| \leq \frac{R^2 + 1}{2} \max_{|z|=1} |p(z)| - |a_1| \frac{(R-1)^2}{2} - \frac{R^2 - 1}{2} \min_{|z|=1} |p(z)|, \quad \text{if } n = 2.$$

The above lemma is due to Jagjeet Kaur [9].

**Lemma 2.4.** *If  $p(z) = a_n \prod_{v=1}^n (z - z_v)$ ,  $a_n \neq 0$ , is a polynomial of degree  $n$ , such that  $|z_v| \leq 1$ ,  $1 \leq v \leq n$ , then*

$$(2.6) \quad \max_{|z|=1} |p'(z)| \geq \sum_{v=1}^n \frac{1}{1 + |z_v|} \max_{|z|=1} |p(z)|.$$

This lemma is due to Giroux, Rahman and Schmeisser [6].

**Lemma 2.5.** *If  $p(z)$  is a polynomial of degree  $n$ , which has all its zeros in the disk  $|z| \leq k$ ,  $k \geq 1$ , then*

$$(2.7) \quad \max_{|z|=k} |p(z)| \geq \frac{2k^n}{1 + k^n} \max_{|z|=1} |p(z)|.$$

*Inequality (2.7) is best possible and equality holds for  $p(z) = z^n + k^n$ .*

The above result is due to Aziz [1].

**Lemma 2.6.** *If  $p(z)$  is a polynomial of degree  $n$ , having all its zeros in the disk  $|z| \leq k$ ,  $k \geq 1$ , then*

$$(2.8) \quad \max_{|z|=k} |p(z)| \geq \frac{2k^n}{1+k^n} \max_{|z|=1} |p(z)| + \frac{k^n-1}{1+k^n} \min_{|z|=k} |p(z)|.$$

*The result is best possible and equality holds for  $p(z) = z^n + k^n$ .*

*Proof of Lemma 2.6.* For  $k = 1$ , there is nothing to prove. Therefore it is sufficient to consider the case  $k > 1$ .

$$\text{Let } m = \min_{|z|=k} |p(z)|. \text{ Then } m \leq |p(z)| \text{ for } |z| = k.$$

Since all the zeros of  $p(z)$  lie in  $|z| \leq k$ ,  $k > 1$ , by Rouché's theorem, for every  $\lambda$  with  $|\lambda| < 1$ , the polynomial  $p(z) + \lambda m$  has all its zeros in  $|z| \leq k$ ,  $k > 1$ . Applying Lemma 2.5 to the polynomial  $p(z) + \lambda m$ , we get

$$\max_{|z|=k} |p(z) + \lambda m| \geq \frac{2k^n}{1+k^n} \max_{|z|=1} |p(z) + \lambda m|.$$

Choosing the argument of  $\lambda$  such that  $|p(z) + \lambda m| = |p(z)| + |\lambda|m$  and letting  $|\lambda| \rightarrow 1$ , we get

$$\max_{|z|=k} |p(z)| \geq \frac{2k^n}{1+k^n} \max_{|z|=1} |p(z)| + \frac{k^n-1}{1+k^n} \min_{|z|=k} |p(z)|.$$

This completes the proof of Lemma 2.6. □

**Lemma 2.7.** *If  $p(z)$  is a polynomial of degree  $n$  and  $\alpha$  is any real or complex number with  $|\alpha| \neq 0$ , then*

$$(2.9) \quad |D_{\alpha} p(z)| = |n\bar{\alpha}p(z) + (1 - \bar{\alpha}z)p'(z)| \quad \text{for } |z| = 1.$$

Lemma 2.7 is due to Aziz [2].

### 3. PROOFS OF THE THEOREMS

*Proof of Theorem 1.1.* Let  $G(z) = p(kz)$ . Since the zeros of  $p(z)$  are  $z_v$ ,  $1 \leq v \leq n$ , the zeros of the polynomial  $G(z)$  are  $z_v/k$ ,  $1 \leq v \leq n$ , and because all the zeros of  $p(z)$  lie in  $|z| \leq k$ , all the zeros of  $G(z)$  lie in  $|z| \leq 1$ , therefore applying Lemma 2.4 to the polynomial  $G(z)$ , we get

$$(3.1) \quad \max_{|z|=1} |G'(z)| \geq \sum_{v=1}^n \frac{1}{1 + \frac{|z_v|}{k}} \max_{|z|=1} |G(z)|.$$

Let  $H(z) = z^n \overline{G(1/\bar{z})}$ . Then it can be easily verified that

$$(3.2) \quad |H'(z)| = |nG(z) - zG'(z)|, \quad \text{for } |z| = 1.$$

The polynomial  $H(z)$  has all its zeros in  $|z| \geq 1$  and  $|H(z)| = |G(z)|$  for  $|z| = 1$ , therefore, by the result of de Bruijn [4]

$$(3.3) \quad |H'(z)| \leq |G'(z)| \quad \text{for } |z| = 1.$$

Now for every real or complex number  $\alpha$  with  $|\alpha| \geq k$ , we have

$$\begin{aligned} |D_{\alpha/k} G(z)| &= \left| nG(z) - zG'(z) + \frac{\alpha}{k} G'(z) \right| \\ &\geq |\alpha/k| |G'(z)| - |nG(z) - zG'(z)|. \end{aligned}$$

This gives with the help of (3.2) and (3.3) that

$$(3.4) \quad \max_{|z|=1} |D_{\alpha/k} G(z)| \geq \frac{|\alpha| - k}{k} \max_{|z|=1} |G'(z)|.$$

Using (3.1) in (3.4), we get

$$\max_{|z|=1} |D_{\alpha/k}G(z)| \geq \frac{|\alpha| - k}{k} \sum_{v=1}^n \frac{k}{k + |z_v|} \max_{|z|=1} |G(z)|.$$

Replacing  $G(z)$  by  $p(kz)$ , we get

$$\max_{|z|=1} |D_{\alpha/k}p(kz)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \max_{|z|=1} |p(kz)|$$

which implies

$$\max_{|z|=1} \left| np(kz) + \left( \frac{\alpha}{k} - z \right) kp'(kz) \right| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \max_{|z|=1} |p(kz)|,$$

which gives

$$\max_{|z|=k} |D_{\alpha}p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \max_{|z|=k} |p(z)|.$$

Using Lemma 2.6 in the above inequality, we get

$$(3.5) \quad \max_{|z|=k} |D_{\alpha}p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \left[ \frac{2k^n}{1 + k^n} \max_{|z|=1} |p(z)| + \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \right].$$

Since  $D_{\alpha}p(z)$  is a polynomial of degree at most  $n - 1$  and  $k \geq 1$ , applying Lemma 2.1 to the polynomial  $D_{\alpha}p(z)$ , we get

$$(3.6) \quad \max_{|z|=k} |D_{\alpha}p(z)| \leq k^{n-1} \max_{|z|=1} |D_{\alpha}p(z)|.$$

Combining (3.5) and (3.6), we get

$$\begin{aligned} & \max_{|z|=1} |D_{\alpha}p(z)| \\ & \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + |z_v|} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \right] \\ & \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \right] \end{aligned}$$

which is the required result. Hence the proof Theorem 1.1 is complete.  $\square$

*Proof of Theorem 1.5.* Let  $G(z) = p(kz)$ . Since the zeros of  $p(z)$  are  $z_v$ ,  $1 \leq v \leq n$ , the zeros of the polynomial  $G(z)$  are  $z_v/k$ ,  $1 \leq v \leq n$ , and because all the zeros of  $p(z)$  lie in  $|z| \leq k$ , all the zeros of  $G(z)$  lie in  $|z| \leq 1$ , therefore applying Lemma 2.4 to the polynomial  $G(z)$  and proceeding in the same way as in Theorem 1.1, we obtain

$$(3.7) \quad \max_{|z|=k} |D_{\alpha}p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \max_{|z|=k} |p(z)|.$$

Now let  $q(z) = z^n p\left(\frac{1}{z}\right)$  be the reciprocal polynomial of  $p(z)$ . Since the polynomial  $p(z)$  has all its zeros in  $|z| \leq k$ ,  $k \geq 1$  the polynomial  $q\left(\frac{z}{k}\right)$  has all its zeros in  $|z| \geq 1$ . Hence applying

(2.4) of Lemma 2.3 to the polynomial  $q\left(\frac{z}{k}\right)$ ,  $k \geq 1$ , we get

$$\max_{|z|=k} \left| q\left(\frac{z}{k}\right) \right| \leq \frac{k^n + 1}{2} \max_{|z|=1} \left| q\left(\frac{z}{k}\right) \right| - \left( \frac{k^n - 1}{2} \right) \min_{|z|=1} \left| q\left(\frac{z}{k}\right) \right| \\ - \frac{|a_{n-1}|}{k} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right),$$

which gives

$$\max_{|z|=k} |p(z)| \leq \frac{k^n + 1}{2k^n} \max_{|z|=k} |p(z)| - \left( \frac{k^n - 1}{2k^n} \right) \min_{|z|=k} |p(z)| \\ - \frac{|a_{n-1}|}{k} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right),$$

which is equivalent to

$$(3.8) \quad \max_{|z|=k} |p(z)| \geq \frac{2k^n}{1 + k^n} \max_{|z|=1} |p(z)| + \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \\ + \frac{2|a_{n-1}|k^{n-1}}{1 + k^n} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right).$$

Using (3.8) in (3.7) we get

$$(3.9) \quad \max_{|z|=k} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{1}{k + |z_v|} \left[ \frac{2k^n}{1 + k^n} \max_{|z|=1} |p(z)| + \left( \frac{k^n - 1}{1 + k^n} \right) \right. \\ \left. \times \min_{|z|=k} |p(z)| + \frac{2|a_{n-1}|k^{n-1}}{1 + k^n} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right) \right] \quad \text{if } n > 2.$$

Since  $D_\alpha p(z)$  is a polynomial of degree  $n - 1$  and  $k \geq 1$ , from (2.2) of Lemma 2.2, we get

$$(3.10) \quad \max_{|z|=k} |D_\alpha p(z)| \leq k^{n-1} \max_{|z|=1} |D_\alpha p(z)| - (k^{n-1} - k^{n-3}) |D_\alpha p(0)|, \quad \text{if } n > 2.$$

Combining (3.9) and (3.10) we have

$$\max_{|z|=1} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + |z_v|} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \right. \\ \left. + \frac{2|a_{n-1}|}{k(1 + k^n)} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right) \right] \\ + \left( 1 - \frac{1}{k^2} \right) |na_0 + \alpha a_1|, \quad \text{if } n > 2 \\ \geq (|\alpha| - k) \sum_{v=1}^n \frac{k}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left( \frac{k^n - 1}{1 + k^n} \right) \min_{|z|=k} |p(z)| \right. \\ \left. + \frac{2|a_{n-1}|}{k(1 + k^n)} \left( \frac{k^n - 1}{n} - \frac{k^{n-2} - 1}{n-2} \right) \right] \\ + \left( 1 - \frac{1}{k^2} \right) |na_0 + \alpha a_1|, \quad \text{if } n > 2$$

which completes the proof of (1.8).

The proof of (1.9) follows on the same lines as the proof of (1.8) but instead of (2.2) and (2.4) we use inequalities (2.3) and (2.5) respectively. We omit the details.  $\square$

*Proof of Theorem 1.7.* By hypothesis, the zeros of  $p(z)$  satisfy  $|z_v| \geq k_v$  for  $1 \leq v \leq n$  such that  $k = \min(k_1, k_2, \dots, k_n) \leq 1$ . It follows that the zeros of the polynomial  $q(z) = z^n p(1/\bar{z})$  satisfy  $1/|z_v| \leq 1/k_v$ ,  $1 \leq v \leq n$  such that  $1/k = \max(1/k_1, 1/k_2, \dots, 1/k_n) \geq 1$ . On applying Theorem 1.1 to the polynomial  $q(z)$ , we get

$$(3.11) \quad \max_{|z|=1} |D_\alpha q(z)| \geq k^{n-1} (|\alpha| - 1/k) \sum_{v=1}^n \frac{1}{1/k + 1/k_v} \left[ \frac{2/k^n}{1 + 1/k^n} \max_{|z|=1} |q(z)| + \frac{1/k^n - 1}{1 + 1/k^n} \min_{|z|=1/k} |q(z)| \right], \quad |\alpha| \geq \frac{1}{k}.$$

Now from Lemma 2.7 it follows that

$$|D_\alpha q(z)| = |\alpha| |D_{1/\bar{\alpha}} p(z)| \quad \text{for } |z| = 1.$$

Using the above equality in (3.11), we get for  $|\alpha| \geq 1/k$ ,

$$(3.12) \quad |\alpha| \max_{|z|=1} |D_{1/\bar{\alpha}} p(z)| \geq k^{n-1} (|\alpha| - 1/k) \sum_{v=1}^n \frac{k k_v}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1 - k^n}{(1 + k^n) k^n} \min_{|z|=k} |p(z)| \right].$$

Replacing  $\frac{1}{\alpha}$  by  $\delta$ , so that  $|\delta| \leq k$ , we get from (3.12)

$$|1/\delta| \max_{|z|=1} |D_\delta p(z)| \geq k^{n-1} (|1/\delta| - 1/k) \sum_{v=1}^n \frac{k k_v}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1 - k^n}{(1 + k^n) k^n} \min_{|z|=k} |p(z)| \right],$$

or

$$\begin{aligned} \max_{|z|=1} |D_\delta p(z)| &\geq k^{n-1} (k - |\delta|) \sum_{v=1}^n \frac{k_v}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1 - k^n}{(1 + k^n) k^n} \min_{|z|=k} |p(z)| \right], \\ &\geq k^{n-1} (k - |\delta|) \sum_{v=1}^n \frac{k_v}{k + k_v} \left[ \frac{2}{1 + k^n} \max_{|z|=1} |p(z)| + \frac{1 - k^n}{(1 + k^n) k^n} \min_{|z|=k} |p(z)| \right], \end{aligned}$$

which is (1.12). Hence the proof of Theorem 1.7 is complete.  $\square$

## REFERENCES

- [1] A. AZIZ, Inequalities for the derivative of a polynomial, *Proc. Amer. Math. Soc.*, **89** (1983), 259–266.
- [2] A. AZIZ, Inequalities for the polar derivative of a polynomial, *J. Approx. Theory*, **55** (1988), 183–193.
- [3] A. AZIZ AND N.A. RATHER, A refinement of a theorem of Paul Turán concerning polynomials, *J. Math. Ineq. Appl.*, **1** (1998), 231–238.
- [4] N.G. de BRUIJN, Inequalities concerning polynomials in the complex domain, *Nederl. Akad. Wetensch. Proc. Ser. A*, **50** (1947), 1265–1272; *Indag. Math.*, **9** (1947), 591–598.
- [5] C. FRAPPIER, Q.I. RAHMAN AND St. RUSCHEWEYH, New inequalities for polynomials, *Trans. Amer. Math. Soc.*, **288** (1985), 69–99.



- [6] A. GIROUX, Q.I. RAHMAN AND G. SCHMEISSER, On Bernstein's inequality, *Canad. J. Math.*, **31** (1979), 347–353.
- [7] N.K. GOVIL, On the derivative of a polynomial, *Proc. Amer. Math. Soc.*, **41** (1973), 543–546.
- [8] N.K. GOVIL, Inequalities for the derivative of a polynomial, *J. Approx. Theory*, **63** (1990), 65–71.
- [9] J. KAUR, Inequalities for the derivative of a polynomial, *Pure and Applied Mathematical Sciences*, **XII (1–2)** (1995), 45–51.
- [10] PÓLYA AND G. SZEGÖ, *Ausgaben und Lehratze ous der Analysis*, Springer-Verlag, Berlin, 1925.
- [11] P. TURÁN, Über die ableitung von polynomen, *Compositio Math.*, **7** (1939), 89–95.